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2019 (S)

SSC PART-Il (10th CLASS)

COMPUTER SCIENCE (NEW SCHEME)

TIME ALLOWED: 1.45 Hours

SUBJECTIVE _SW¥ile

MAXIMUM MARKS: 40

(£ %)
145 =

40

NOTE: Write same question number ﬂ%.f';):ufg.{.g‘lr.fﬁ'gé b))/ﬁ'];:i/:xdff(ﬁj{dﬂm

and its part number on answer book, as given in the question paper.

SECTION-l s

2. Attempt any four parts. 8=2x4
(1) Define Debugging.

(i) Write limitations of flowcharts.

(i) Who and when BASIC language was developed?

{iv)  Write purpose and syntax of AUTO command.

(v}  Define unconditionat transfer of control.

(vi)  What is Selection Structure?

3. Attempt any four parts. 8=2x4
(i) What is-meant by two-dimensional array?

(i)  How to fill and print an array?

(i)  Describe the use of subscript variable in array.

(iv)  Write purpose and format of ABS function.

{v}  Whatis meant by Data Fields?

(vi)  Differentiate between program files and data files.

4. Attempt any four parts. 8=2x4

(i) Write the syntax of Palette Statement.
(1) Define Graphics.

(i)  What is Microsoft Word?

{iv) Define Font.

(v}  Explain the use of clipboard in MS-Word.

(vi)  How a file can be saved in MS-Word?

SECTION-II (1.

NOTE: Attempt any two questions. 16=8x2
8. Define Flowchart. Write guidelines for drawing a flowchart.
6. What is meant by type conversion?

Explain principles of type conversion.

7. What is Loop? Explain its types.
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PAPER CODE 2019 (S) )
SSC PART-ll (10th CLASS

NUMBER: 3831 : )

COMPUTER SCIENCE (NEW SCHEME) (f.!’ £) St

TIME ALLOWED: 15 Minutes OBJECTIVE u“;/':ﬁ 15 = o

MAXIMUM MARKS: 10 10= AF

Ao | A QL e o i s vl g g J6317 L4 D 4 C B A bz bl LS
434t Ko S Sl A 121 Mot s 20 sd i S st §E S S LS s smstie ] -
Note: you have four choices for each objective type question as A, B, C and D. The choice -;_,j/'./:d’?j:.:aufr
which you think is correct, fill that buhble in front of that question number, on bubbie sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be

awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1

-1 ﬁUfr
Lofi ()

-

(D) Multipie &

WS et e (2)

{1) possible sclutions are there for a problem.

(A) One i (2) Two s iC) Three &

(2) Typographical errors in BASIC statement are:-

(A) Runtime errors }J_/lf’w, (B) Logical errcrs Jusiy) 5}*’*

(C) Syntax errors J.zl uSuiisw (D) Execution errors );{lu%;‘:/f I

(3) The maximum length ofa variable name in GW-BASIC is: _c{'..uLJ )LJC_:JL;JJ”UAJ (AL LS (3)

Ay 3 (B) 32 {C) 40 (D) 48

=z
|

-~ , N L
(4) If two or more statements are written on aline; _.g._t'ﬁ,g L gj’f}bg dtggf'” J‘j:;paug»ublsbg I/ (4)

they must be separated by a:
(D) Hyphen ¢/

fe e I o (5)

(A) Colon /¥ (B) Semicolon ¢/~ (C) Comma L

(8) Which of the following is not a logical operator?

(A) AND (B) OR (C) NEITHER (D) NOT
(6) The types of array are: -VE(L?IJ;;- 8)
{A) 1 (B) 2 (C) 3 D) 4

{7} The statement DIM C (30, 50) would reserves:
(A) =il 80 locations (B) =\ 1200 iocations
(8) Adfile can be organized in the following ways:

(A) One way 3AL! (B} Two ways & A

(C) =i~ 1500 locations

-2 3/8¥ DIMC (30, 50)

(D} =il 150 locations

e Pty At ORI Sk

(C) Three ways & 4.¢ (D) Four ways & A

{9) The CIRCLE statement can also be used to draw a/an: -@ié‘ﬂ/ﬁ;u&;ﬁf CIRCLE (9)
(A) Line o/ (3) Box 'L (C) PSET (D) Ellipse  Fr%
{10) Which one option is not in Edit Menu? ‘bru’i,- ¥ »lﬂqufauwj);;u (10)
(A} Undo sl (B) Redo +3(» (C) Find %6 (D) Font 24
o W
38(0bj)( ¥)-2019(S). VOO (MULTAN)
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PAPER CODE 2019 (S) A
SSC PART-I (10th CLASS)

NUMBER: 3833

COMPUTER SCIENCE (NEW SCHEME) (£ ) St
TIME ALLOWED: 15 Minutes OBJECTIVE U‘?/“La’ @15 = &b
MAXIMUM MARKS: 10 10= AF

Ay b LA L N s U sty (3632 <t L2 D 11 C B A ez el Sy oS
IRV -b’i-lviﬁu-‘-"/ qufs:w}‘t;d-fﬂ.é J’(/J:f'b -fn;ﬂw.._ﬁb?uﬂgﬂaxf(;i.)z JoK L L/.qu,ﬂmy:.—_.__ﬁ ")
Note: you have four choices for each objective type question as A, B, C and D. The choice -d_zf;d’}fqamr
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more hubbles will result in zero mark in that question. No credit will be

awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 A A

(1) The types of array are: _ugrﬁ'd/f;._ﬂ (1)
(A) 1 (B) 2 (C) 3 (D) 4

(2) The statement DIM C (30, 50) would reserves: -;.J/L'i”' DIM C (30, 50) e (2)

(A) =l 80 locations  (B) =L 1200 locations (C) =Ll 1500 locations (D) =il 150 locations
(3)  Afile can be organized in the following ways: -é-ﬁél,vovi‘;r{ﬂbf’fm’— AL 5SS (3)

(A)Oneway 3 A01  (ByTwoways &b (C) Thrée ways 2 KX (D) Fourways & Ao

(4) The CIRCLE statement can also be uUsed to draw a/an- & é’{g,?(?a,u(fﬂ CIRCLE (4)
(A) Line /U (B) Box | (C) PSET (D) Ellipse  Fi$»%

(5) Which one option is not in Edit Menu? Pen Ul e A Teie i (5)
(A) Undo s}y (B) Redo i, (C) Find 6 (D) Font ¢

(6) possible solutions are there for a problem. -L,L?J’op — L (6)
(A) One {1 (2) Two (C) Three o (D) Multiple §

(7) Typographical errors in BASIC statement are-- -;{?J&@;#u{’jf@ufﬁu% {(7)
(A) Runtime errors J'J{-:f’? b (B) Logical errors ).glu?»y"
(C) Syntax errors Ju/1 uSikin (D) Execution errors )j{lua:k//'? !

(8) The maximum length of a variable name in GW-BASIC is: -g_&L,Ju{:)a.umfd-’"fd_ﬂ-ﬁgﬁ%-:ﬁﬁ'd (8)
(A) 31 (B) 32 (C) 40 (D) 45

(9) If two or more statements are written on a line, i i/ L _m_u.i’l?u_?&?&gu’%:yc_»guuflwy{lﬁ (9)

they must be separated by a

(A) Colon ¢ (B) Semicolon {5~ (C) Comma 1)/ (D) Hyphen ¢l
{10) Which of the following is not a logical operator? ?’éwuff&{:'ub:’-ﬁlfufr— Ul (10)
(A) AND (BY CGR (C) NEITHER (D) NOT

38(0bj)( WH)-2019(8)-1D) C°C>  (MULTAN)
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PAPER CODE 2019 (S) oy
SSC PART-ll (10th CLASS)

NUMBER: 3835

COMPUTER SCIENCE (NEW SCHEME) (%) St
TIME ALLOWED: 15 Minutes OBJECTIVE i’ﬁ_‘_’_ w16 = 2y
MAXIMUM MARKS: 10 10= Af

S b SRS L zarne S UIEl sl s Q6817 - 1L Es D i C B A 2L )
VYRS _fi_b&:uﬁ?/:}éfgﬂaﬂ‘(fé.&é J{JJ}b -,S’M)rzw._;b".‘uﬁ‘ﬂ.:w"(ﬂ.)z Py ) L/qu:jbuj_.}c....g <2y
Note: you have four choices for each objective type question as A, B, C and D. The choice -qﬁd’y}awr
which you think is correct, fill that bubkle in front of that question number, on bubble sheet. Use marker or pen

to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be

awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 Ry

{1) The CIRCLE statement can also be used to draw a/an; _L,[‘ré@"ifﬁcﬂuu(ﬁ CIRCLE (N
(A) Line /i (B) Box | (C) PSET (D) Ellipse  F(ér

(2} Which one option is not in Edit Menu? b UL e A Tl Ut b @)
(A) Undo sigi (B) Redo +ii. (C) Find %6 (D) Fort ¢

(3) possible solutions are there for a problem. _;,ggj"g‘? L (3)
(A) Ongi (i (@) Two s (C) Three ¢f (DyMuttiple &

{4) Typographical errors in BASIT statement are:= ,‘@G}kﬁgl&.@?uf:,ﬁ'? .J:: (4)
(A) Runtime errors .b,_fi('t'u; (&) Logical errois b;l;,ﬁ:’-)
(C) Syntax errors Jusf el (D) Execution errors )/;JL;E;{/‘?#

(5) The maximum length of a variable name in GW-BAS!C is: ..{_--JI,JMLJ‘—_,a:'gj.;}/g,'-ﬂd;,.{l;ﬁwﬂ;-:;‘figﬁ (5)
(A) 31 (B) 32 (C) 40 (D) 45

(6) If two or more statements are written on a line, -/‘.'_‘3',)")? ___gﬂ"’i?gg{_n}tgfg f""';p:_»g»uw..gf’: (6)

they must be separated by a:

(A) Colon /¢ (B) Semicolon /¥4~ (C) Comma LS (D) Hyphen

(7) Which of the following is not a logical operator? Tt u’ﬁfﬁgﬂﬁ?bwﬁ:—»u’fu‘i {7)
(A) AND (B) OR (C) NEITHER (D) NOT

(8) The types of array are: -u_’;(tﬁf&_ﬂ (8)
(A) 1 (B) 2 (C) 3 (D) 4

(9) The statement DIM C (30, 50) would reserves: - GJ’E:""' DIM C (30, 50) i (9)

{(A) =i~ 80 locations  (B) (& 1200 locations (C) «il» 1500 focations (D) <ii» 150 locations
(10)  Afile can be organized in the following ways: -s;;JC%JJ%;)F/"f*c- A eaSil (10)

(A)Oneway AL (B) Twoways & 4»  (C)Three ways & A% (D) Fourways & A

38(0bj)( W H)-2019(5), D) (O (MULTAN)
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PAPER CODE 2019 (S) A
SSC PART-ll (10th CLASS)

NUMBER: 3837

COMPUTER SCIENCE (NEW SCHEME) (F2) Fnd
TIME ALLOWED: 15 Minutes OBJECTIVE u_"bﬁ w15 = =
MAXIMUM MARKS: 10 Tid= /'{J(

A \ S I3 L mone o U e s vl D 36317 - fELEs D 19 C B A bzl kS
134 Kb DA e Sl st Moo 2o §iS% Sk | LSl g s
Note: you have four choices for each objective type question as A, B, C and D. The choice _q):sd'},(r;:.«mr
which you think is correct, fill that bubble in front of that question number, on bubbie sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be

awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.
Q.No.1 A Ay

(1) If two or more statements are written on a line, -gt‘/w uf"l?uj‘;‘lgu”ﬁ i wks B (1)

they must be separated by a:

(A) Colon /¥ (B) Semicolon /¥ (C) Comma L¥’ (D) Hyphen ¢/

(2) Which of the following is not a logical operator? ?g_ui‘(/":{:'ﬁ:’bfufc:-u’fw (2)
{A) AND (B} OR {C) NEITHER (D) NOT

(3) The types of array are: -ujrb—"’f&—ﬂ (3
(A) 1 (B) 2 ) 3 (D) 4

{4} The statement DIM C (30, 50) would reserves: ,f.J/@'P‘ DIM C (30, 50) \..-f*'i‘-” (4)

(A) =\t 80 locations  (B) =\« 1200 locations (C) =i+ 1500 locations (D) =L+ 150 locations
(5) A file can be organized in the following ways: e ey gt Fe JR ISt Si (5)

(A)Oneway &AL (B)Twoways & A (C) Three ways & A& (D) Four ways & Ak

(8) The CIRCLE statement can also be used ta draw a/an: -ujéﬁfﬁcduuﬁ CIRCLE (6)
(A) Line oA (B) Box 1 (C) PSET (D) Ellipse  FSs%

(7) Wh.ich one option is not in Edit Menu? e T Mo it S snie (7)
(A) Undo s3ui (B) Redo 5 (C) Find 476 (D) Font 47

(8) possible solutions are there for a problem. S L (8)
(A) One (I (2) Two 5 (C) Three o (D) Multiple &

(9) Typographical errors in BASIC statement are:- -ujéilff;;ltf_x?wf.;ﬁf’-_lé (9)
(A) Runtime errors jJ_/Jf' 1O, (B) Logical errors b_(lff?:‘
(C) Syntax errors J/ il (D} Execution errors J}{lcfxg)?f

(10) The maximum length of a variable name in GW-BASIC is: cedtnbic b S pdiftdastsd (10)
(A) 31 (B) 32 (C) 40 (D) 45

38(0bj)( TR H)-2019(8)-D OO (MULTAN)
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